http://farbe.li.tu-berlin.de/BEZ2/BEZ2LON1.TXT /.PS; start output

N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1
e A2 g ghoes Tre CIELABIZ retve sandard lghness CELAB2 sandard fgress - T, GELAene ey gL
= ] 00, 0 YocrL*w - n=100, e, Yoot 00,

I'Ct g 109015011001 10051<%) I it a2 =109 (/1Y) L Cletasna S1090Y) 259 (,=100,Y,41009¥<=Y,) L* cieLagne
1 N(3.6)=201" (18)246,1y (9 = = L* (3:6)20.L* (18) 46+ ,(90)=06 Nex

IS 995

1 095,522,
146,18 5
13620197

jeo||dde
BasgnL

uonens

T

dnysay Jejw

CIELABn2 log(AYIAY,) CIELABN2 relative. CIELABN2 I log(AYIDY,) CIELABN2 relative.
st vl dirence T, rvr:xvmue valae dtrerce stins vl diference T, wsimulus value ifrence

dnyuonewlolul [ea1uyos)

Yoc Vw
)5S (121001 100/<=Y,) P e o L cepana 1090150 (1,100,100l L cevnpme =109ty 259 (1,
\ug(dv) (1/2 5) log[2, svulluaﬂ + [1-(2/2,5)] log¥) log(dY/dY,) [1/2 )] \ungu) \ug(dv) (1/2 5) log[2,5¢,/108)] + [1-(1/2,5)] log¥) log(dY/dY,) = [1-(1/12,5)] logl/Y,)

aqey//

Mgtz e2p2s i
0 5-108.42
N Vioa a

Mt 125

GV Y100 dY;

ELAB‘HZ ] log [(AY/Y) | (AYIY),) C‘ELA‘EHZ ve‘\anve CIELABN2 log [(AY/Y) | (AYIY),) C‘ELA‘EHZ ve‘\anve
el v sy SISueYN ey, S v oy i e e SISy, TSR e Sensanay
I et 10925 (1,100,100, I LA 1092 (1,=100,Y,/100% L Cetapn2 1090259 (1,100, %1002v<=%o) ll L GiLamra 1090179 (1,100,110
log(dY/Y)= 0g[2,5(¥,/108)] - (112.5) log{/Y,) 1ogl(dYMIAYN),] = - (112,5) logirY,) log(dY/¥)= 0g[2,5(/,/108)] - (1/2.5) logi/Y,) 1ogl(dYMIAYN),] = - (112,5) logiIY,)

= (1/2,5) log[2,5¥,/108)] - (1/2,5) log¥) =(1/2,5) log[2,5Y,/108)] - (1/2.5) logl)
o052 y YNV 052,-25, 1112504
VAT 4z VN G605
i

~ “ "
i 059, > = (dv/Yxa{dYnu"BQ Vol vk S | logavrvye-o, S T (@YY gaYN =89 Yy

Indino Ae|dsip Jo Juswainseaw 1o} uo

Sd’/ LX1TIN012Z34/2Z39-10€02202

g
g
g
g
3
Q
@
@
I\
IS4
@
N
N
T
B
<

qLey//:

L=
avny ot 5T, o0 2583 (@YVhi02588

(@YVR=01336)=25 =112 8=0. oV 39 (@YVh01336y=
3
s i

og (VIAY) CIELABn2 10g [(VAY)/ (4Y),]  CIELABN2 relaiive CIELABn2 10g [(VAY) / (4);]  CIELABN2 relaiive
) st v conrst IRV vam value conirast o st v conrst Gcy v, SIS vae conuast
09IV 25-9 (1,100, 100Y<= Vo) =100 0,%,d 1004 L* letamnz =109 250 (1,=100,Y, /100Y<=Y,) L* ClLagr2 10901259 (V=100
og(Y/dY)= - Iog[2,5(/,/108)] + (L125) log{¥,) \og[[v/dv)llwd‘ﬂu] =(128) mng“) 10g(Y/dY)= - Iog[2.5/,/108)] + (L125) log{¥,) Tog{(YIdV)(Yid¥),] = (1125) logiY,)
- (112.5) 0gl2.5¢,108)] + (1/2,5) log) - (1125 Iogl2.51,/108) + (112) logt)
N (OTpININ=190):25 141252049 (YIAYR(YIdY)=1,90.
oatay o o : e
(Vidvhg(vid s (VIaYhg(VIaYi=0.52 Yy

mguvmvy(vmv

[eLarew gnL

L

9p00

e - —
(vis 08,42 D, -84 - appication S applcation
ringe Fange. ringe
8 1

Y=

UB-test chart BEZ2; CIELABn2* & L* for Y/Y, with additional dataYnc=(Y&L*)wnc
bsolute and relative lightness, sensitivity and cont@&st108,42, 1y=1/2,5=0,40 Dy=—8,42




